The Valuation of Standard Products

Standard Products is publicly traded and its common stock has a current market value of $1.5 billion.  Its equity market value has varied between $1.3 billion and $1.65 billion over the past two years.  The Board of Directors of Standard Products is considering a $1.7 billion cash-for-stock buyout offer from Lee Corporation.  This offer has not been publicly announced, and it appears that the market price of Standard Products’s stock has not been affected by the offer.  The Standard Products board has asked the investment banking firm of Reinhardt Wallace to evaluate the offer, and to determine a fair value for company (that is, its intrinsic value).  You are the head of the Reinhardt Wallace team that will conduct the valuation.  Now is year 2002.   Exhibit 1 shows the forecasted Statement of Cash Flows for Standard Products (where the figures for 20x3 are for one year from now, and the figures for 20x4 are for two years from now.)   

To perform the valuation, you will value the company’s equity by: (a) making detailed forecasts for years 2003 and 2004 and then valuing the cash flows for years 2003 and 2004; (b) Using a simple forecast of cash flows after 2004 to compute the end of year 2004 “continuing value” and then discounting the continuing value back to now (2002); and (c) Adding the result from (a) to the result from (b) to compute equity value. In the solutions to the problems, we will reference some of the equations in the reading L. Schall, “Techniques for Business Valuation” (we will refer to this as “TBV”).

(a)

You forecast that in 2005 the firm will have an equity cash flow (ECF) of $120 million and that the ECF and will thereafter grow at a 5 percent rate per year forever (e.g., ECF in 2006 = (1.05) ( (ECF in 2005 = $126 million).  Assume that the risk of the ECF over time implies that a constant equity cost of capital 12.5 percent is correct discounting for all future ECF.  What is your estimate of the current (2002) market value of the equity of Standard Products?   

(b)

You forecast that the firm’s Total Cash Flow (TCF) in 2005 will be $160 million and that the TCF will grow after that at a rate of 6 percent per year forever (TCF in 2006 = (1.06) ( (TCF in 2005), etc.).  The estimated weighted-average cost-of-capital (WACC) for discounting the TCF is 10 percent.  Standard Products currently (2002) has outstanding $1 billion of interest bearing debt outstanding, $400 million of convertible debt, $600 million of preferred stock.   What is your estimate of the current (2002) market value of the equity of Standard Products?   Why does your estimate differ from that in (a)?

Exhibit II. Standard Products Consolidated Statement of Cash Flows (all figures in $ millions)

	Year ended December 31,


	2003
	 
	2004

	Cash flows – operating activities:
Net earnings

Adjustments to reconcile net earnings to net cash provided by operating activities:

                Depreciation and amortization                          

                Deferred federal income taxes

                (Increase) decrease in accounts receivable

                (Increase) decrease in inventories

                Increase (decrease) in accounts payable
	$850

250

 160

 (70)

 40

90   
	
	$980

300

180

(90)

50

(80)

	           Net cash provided by operating activities:
	1,320
	
	1,340

	Cash flows – investing activities
        Capital expenditures

        Proceeds from dispositions of property

        New other investments

        Proceeds from sales of investments
	(1,250)

250

(150)

30
	
	(1,500)

200

      -

90

	           Net cash provided by investing activities:
	(1,120)
	
	(1,210)

	Cash flows – financing activities:
        Payments of dividends on common stock

        Retirement of long-term debt obligations

        New long-term debt obligations

        Payment of dividends on preferred stock

        Purchases of common stock

        Issuance of common stock
	(95)

(60)

300

(25)

(100)

10
	
	(105)

(90)

     75

(25)

     -   

150

	           Net cash provided by financing activities:
	30
	
	5

	Effect of exchange rate changes on cash

Increase (decrease) in cash and 

short-term investments
	(25)

$205
	
	10

$145


Supplementary Information Not in Statement of Cash Flows: Interest Payments (in $million) in 2003 = $75 and Interest Payments in 2004 = $95.
Solution
(a)

Year 2002 equity value is the present value of the future (i.e., after 2002) ECF.    Equation (5c) in TBV can be used to compute 
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 for years 2003 and 2004 using the statement of cash flows.  The computation is shown in Exhibit 1 below (all figures in $ millions). 
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[image: image2.wmf]Flow

Cash

Equity

= ( Dividends ( 
[image: image3.wmf]purchases

stock

Treasury 

 ( 
[image: image4.wmf]sales

share

 

New


              

Exhibit 1.  Quantities as Shown on Statements of Cash Flow, 2003 and 2004

	Year
	Dividends
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	Equity Cash Flow
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	2003
	        $(95)
	            $(100)
	            $10
	$185

	2004
	      $(105)
	            $  0
	          $150
	($45)


ECF for 2003 and 2004 are shown in Exhibit 1 above.  ECF in 2005 is forecasted to be $120 million and then grow at the rate of 5 percent per year thereafter.  Therefore, the value of the equity 
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 (in $million) is (see the explanatory note below for the basis of equation [1]):
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                              =  $164.44 ( $35.56 + $1,264.20 =  $1,393.09                                               [1]


Equity continuing value is the last bracketed expression in the second line ($120/.075).

Explanatory Note:  The value at time t 
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 of a perpetual income stream that begins at $1 one period later (at t + 1) and grows at rate g thereafter (that is, amount 
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where k is the discount rate.  Using equation [2], in question (a) above, the value in 2004 of the dividend stream that is $120 in year 2005 and growing at 5 percent per year thereafter is: 
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To discount 
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 back to time 2002, we must divide 
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(b)
Let’s begin by valuing the entire firm using the estimated WACC of 10 percent (where the estimate is using TBV equation (10)).  Equation (5a) in TBV can be used to compute 
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; the computation is shown in Exhibit 2 below (all figures in $millions).


          TBV Equation (5a): 
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Exhibit 2.  Equity Cash Flow of Standard Products for 2003 and 2004

	Year
	Net Cash Provided by Financing Activities
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	2003
	               $30
	           $75
	            $45

	2004
	               $ 5
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Total Cash Flow (TCF) in 2005 is forecast to be $170 million and to grow thereafter at 6 percent per year forever (TCF in 2006 will be (1.06) ( (TCF in 2005) = (1.06) ( $170 = $254.40, etc.). The estimated weighted average cost of capital (WACC) for discounting the TCF is 10 percent.  Therefore, the value of the firm is:
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                                   = $40.91 + $74.38 + $3,305.79 
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Continuing firm value is the last bracketed term in the second line ($160/.4).  
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 minus the value of other securities (debt value = $1 billion, convertible debt value = $400 million, and preferred stock value = $600 million).  Thus (in $million),
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 = $3,421.07 ( $1,000 ( $400 ( $600 = $1,421.07                                    [5]

Equity value 
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 was estimated to be $1,393.09 in [1] when computed by discounting ECF using the equity cost of capital; but 
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 was estimated to be $1,421.07 in [5] when discounting TCF using the weighted-average cost-of-capital (WACC).  The difference is due to the conditions necessary for the WACC to be precisely correct, one of which being constant proportions of debt and equity financing for all future time periods (which is violated in this example).  Equation [1] above only assumes that the equity cost of capital (12.5%) is the same for discounting all future ECF.   [On this, see conditions [1], [2] and [3] on page 20 of TBV.]
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